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$1: 3 Lija 7 (67.73) #2: 11 viF(62.17) #3: T A 47 £ jt (61.94)

# 11 * AQ6 Mean: 6HS7 1010 9.0 1 ||# 12 » 9764 Mean: 5DXW-2 300 120 1
v AKQJT76 600  6HS6 980 9.0 1 v KT6 -380  3DW-1 50 100 1
¢ A8 6HNG6 980 9.0 1 . 2DW3 110 7.0 1
&3 A 00 2 & KJ9874 1NE5 210 50 1
& K52 & T8743 5HN7 510 -3.0 1 ||e KJT5 & 82 A 00 2
v 94 v 5HN6 480 -3.0 1 ||v A83 I v Q54 3NW3 -400 -1.0 1
+ KJ97 ¢ Q5432 4HN6 480 -3.0 4 ||e AJ32 + K954 3NE5 -460 -20 1
& KQT6 & 952 3SN4 170 -100 1 ||& 65 & AQT3 3NE4 -430 20 2
POEVEN 49 TEVEN o AQ3 3CXN-4  -1100 -12.0 2
N 2~6~5 v 8532 N ~ ~~~ ~ v J972
S2~6~54¢T6 S~~~ v~ ¢+ QT876
E ~1~1~ &AJ874 E 23215 &2
W ~1 ~1 ~ W 24225
# 13 e A Mean: 2SE-2 200 70 1 |[# 14 * 752 Mean: 4HW-1 50 100 1
v AT5 <70  3DS4 130 50 1 v QT7 380 A 00 2
+ J9632 3DS3 110 50 2 ¢ K732 4HW4 420 10 6
& JT73 3DN3 110 50 1 & 943 4HW5 -450 20 2
« KQT7 N & J943 2DN3 110 50 1 ||e T3 & A94 4HW6 -480 -30 1
v K9743 v Q A 00 2 ||v AK432 v J98
¢ 5 + ¢ KT87 3DS-1 100 -1.0 1 ||e AT ¢+ QJ54
& 542 & K986 3NS-3 -300 6.0 1 ||& AQ62 & JT5
TV PN 48652 3CN-3 300 6.0 1 ®*VY PN 4 KQJSE
N 25312 vJ862 3NXS-3 -800 -120 1 [N ~ ~ ~ ~ ~ v 65
S 25312 ¢ AQ4 S~~~ v~ + 986
E ~~~~~ & AQ E 43423 &K87
W ~ ~ ~ ~ ~ W 43423
# 15 + A6 Mean: 2HS2 10 40 3 |[# 16 * J64 Mean: A 00 2
v K765 -30  2SW-1 50 20 1 v 632 -1430  6SW6 -1430 00 10
* K93 A 00 2 ¢ T764
& K765 25W2 110 20 2 & T86
& T54 & QJ83 2HS-1 -100  -20 3 | (& KQ952 & AT73
v AQT v J2 3HS-2 200 5.0 1 ||v J9 — v AKT
+ Q54 ¢ JT62 + AQ95 ¢
& JT42 & AQ3 & 95 & AQ7432
®eV PN 4 K972 ®evVeN o8
N ~ ~ 2~ ~ v 9843 N ~ ~~~ ~ v Q8754
S ~~2~~ ¢ A87 S~~~ v~ * KJ832
E~~~11 98 E 62266 #KJ
W 1 ~~11 W 62266
# 17 e AJT3 Mean: 6HE-1 50 90 1 |[# 18 + QT Mean: 2HN2 10 40 3
v KT -350  6DW-1 50 90 1 v KQ7542 50 A 00 2
+ Q62 5HE-1 50 9.0 1 ¢ J7 3NS-1 -100 -20 1
& T765 5DW-1 50 90 1 & JT8 2HN-1 -100 -20 3
* 86 » KQ5 A 0.0 2 ||& K74 » AJ85 2DS-1 -100 -20 1
v 85 v AQJ732 5DW5 -400 20 1 | |v AT86 I v J93 2HN-2 200 -40 2
¢ AKJ954 ¢+ 873 5HE5 -450  -30 1 |[e Q982 ¢ K3
& KQ9 & A 4HE5 -450 <30 1 ||# 43 & 9762
POV EN 49742 4HE6 480 40 1 POV PN 4 0632
N ~~~~~ v 964 6HE6 980 120 2 [N ~1 ~~~ @
S~~~ v~ T S ~ 1~~~ ¢ AT654
E 25626 &J8432 E ~~~11 &AKQ5
W 25626 W o~~~ 11
# 19 » Q32 Mean: 3SE-2 200 80 1 |[|# 20 s 154 Mean: 4SE4 620 3.0 1
v AQJ4 4140 2HW-2 200 80 1 v T92 730  4SE6 680 2.0 3
¢ T75 1NN-1 -50 30 1 ¢ 92 4SE5 650 2.0 1
& AK8 2SE2 110 10 5 & QJ653 3NW5 -660 2.0 2
& 97 » AKT864 2NN-2 100 10 1 || K6 » AQ9732 3NE5 -660 2.0 2
v 53 v KT96 A 0.0 2 ||v K654 v 73 A 00 2
¢ AJ983 ¢ 2 3CXN-5 -1100 -14.0 1 ||e AKQTS8 + ¢ 43 6NW6 -1440 120 1
& QJT7 & 94 & K2 & AT7
®evVeN 4 J5 PevVeEN o 8
N ~ ~~~ ~ v 872 N ~ ~~~ ~ v AQJ8
S~~~ v~ + KQ64 S~~~ v~ * J765
E 12121 #6532 E 36366 #0984
w 12111 W 36466




9 2018 $20E R FEHEF 2B 2 5
i g 2 S |=w|=w]| g IMP KN % B A

I 55 FR 1 FR 2 | Mac|2on | sor|Tos| IMP | IMP | IMP | IMP | e | A4 | A4 | (MP)
IMP IMP IMP | % | & ;EL pr | g |2 MP MP 2,

1 Y JHIE EiRE 300 79 1 49 [ 30 | 3 10| 3 |61 ]| 3 J170.5151.7%| S

1 Y JHIE Btk 74 10 | 14 | 24 [-10 -1.0 0.58 52.0 |47.3%

1 S EE 20 | 30 | -67 | -37 -1.9 0.45 98.5 |44.8%

1 et {5 5k Bk 54 20 | 54 | -18 | 36 1.8 3.00 123.5 [56.1%

2 R T&E 5o 111 | 89 | 22 | 6 Jo4a ] 7 J12s] 7 12700 [49.1%| 10

2 TREETF 2B FUH 50 | 81 94 [ -13 [ 11 J-03] 11 J0.86 | 11 |264.0 |48.0%| 11

3 TEH (R 300 78 139 [39 |1 13 ] 1 J200] | 2 J1785 |54.1%| 3

3 FEF Pz Es 10 ] 36 | -15 |21 2.1 2.40 62.5 |56.8%

3 e Pz Es 10 | 22 3 19 1.9 7.33 63.0 |57.3%

3 B e 301 60 | <40 120 | 7 1071 5 150 5 ]1170.0 |51.5%| 7

5 [GRESl ST 10 | 49 6 | 43 4.3 8.17 78.0 170.9%

5 [GRER Fat it 10 | 4 26 | -22 2.2 0.15 48.0 |43.6%

5 Pof A A TR 20 | 33 55 | 22 -1.1 0.60 112.5 [51.1%

5 LR ST 20 | 36 | 32 | 4 0.2 1.13 118.0 [53.6%

5 R Fat it 40 1 84 | 59 [ 25 | 4 oo | 6 J142] 6 ]2245|51.0%| 8

6 BNk =HEKX 10 23 | 24 | -1 -0.1 0.96 56.0 150.9%

6 2 X35 B i E 50 | 62 | -115 | -53 117 |-1.1 ] 16 Jo.54 | 17 12635 [47.9%| 12

6 2l =, FE#m 10| 6 -49 | 43 43 0.12 32.0 129.1%

6 2l =, =EER 30 1 33 | 73 | <40 | 16 |-1.3] 18 045 | 18 |149.0 [452%| 16

7 PR EE M SR 20 | 26 | -26 1.00 109.0 149.5%

7 SR FHi 20 | 55 | 229 | 26 1.3 1.90 123.0 [55.9%

7 [ BRI 30 | 66 32 34 |2 111 ] 2 1206 1 11825 (553%| 1

7 S PR EE M 10 ] 25 | 28 | 3 -0.3 0.89 53.5 |48.6%

8 REZ HEHZ 50 1100 | 8 | 14 | 8 Jo3 ]| 8 |L16] 8 |279.5[508%] 9

8 PR 2HE 50 1 79 | -137 | -58 | 18 |-1.2] 17 1058 | 16 |249.5 [45.4%]| 15

9 e T4 10 | 26 -4 22 2.2 6.50 62.0 |56.4%

9 e =S 20 | 47 | -45 2 0.1 1.04 122.0 [55.5%

9 LRI B AL A% 10 ] 6 27 | 21 2.1 0.22 38.5 [35.0%

9 =S B 30 1 35 | 59 | -24 115 |1-08] 15 1059 | 15 |142.5 [43.2%] 18

9 Bl JEL7E PR 30 ] 50 | -68 | -18 |13 |-0.6 ] 13 J0.74 | 13 |144.5 [43.8%| 17

10 PRETLARL #=HAG 40 1 74 | 82 | -8 |10 J-02] 10 J0.90 | 10 12075 [47.2%| 14

10 FEIS Bbk & 40 | 6l 75 [ 14 |12 104 ] 12 Jo81 ] 12 1227.0 [51.6%| 6

11 i =isE 20 | 28 | 30 | =2 -0.1 0.93 109.5 149.8%

11 Bt PR 20 | 15 | 42 |27 -14 0.36 100.5 [45.7%

11 RS A 10 | 15 12 1.2 5.00 60.5 |55.0%

11 Pz AR 10 | 24 - 17 1.7 3.43 66.0 |60.0%

11 BB wEfE 20 | 52 | 220 | 32 1.6 2.60 117.0 [53.2%

12 {o] &y FrEE 40 1 73 | 80 | -7 | 9 J-021 9 Joo1r [ 9 1234.0[53.2%| 4

12 R Gl 30 | 37 561 -19 | 14 1-06] 14 1066 | 14 |156.0 [47.3%| 13

12 BRIk i JE=AI 30 | 71 47 [ 24 |5 108 | 4 J151] 4 1815 [550%| 2




5 2018 %205 HE < F 2R 5
i g KA & | E=9 | &g IMP a2, % =
F; %ﬁ, %ﬁ )43733; Tian | Timks |Tiss] IMP | IMP | IMP | IMP ?é’ #w| B A B & | MP)
IMP | IMP | IMP | & ¢ | Fae |27 | pdic |25 ]| MP w |
1 SE 20 | 30 [ 6D | 3D (1.9) 0.45 98.5 |44.8%
1 Bek {5 5k 40 184 | @) | (D) |23 10.0] 23 1099 | 24 ]222.0 |50.5%] 25
1 EiEE 30179 | @9 130 [ 7 110 6 |161] 8 |J1705(51.7%] 15
1 Wk 40 1 93 | 73 1 20 |16 |05 | 15 | 1.27 | 15 ]222.5|50.6%]| 23
1 Bk 54 30 1 68 [ 4 126 19 109 | 8 |1.62] 7 |1755(532%| 9
2 TRET SO L 81 [ Obh | a3 |31 O3] 30 ]086 | 30 |264.0 [48.0%]| 33
2 JE R SO L 111 [ @89 | 22 |14 104 | 16 | 125 | 16 ]270.0 [49.1%]| 29
2 BT S0 1 81 | Obh | a3 [31 O3] 30 ]086 ] 30 ]264.0 [48.0%] 33
2 FE&E SO 111 [ 89 | 22 |14 104 | 16 | 125 | 16 ]270.0 [49.1%]| 29
3 BEE 40 182 [ ¢4» 139 | 3 110 [ 7 191 6 ]233.0[53.0%]| 12
3 S 30 L 60 [ o) 1 20 |16 1 0.7 | 12 | 1.50 | 12 ]170.0 [51.5%]| 18
3 F= 40 1114 | H 160 | 1 |15 ] 2 J211 ] 2 2410 [54.8%| 6
3 B EE 20 | S8 | (%) | 40 2.0 3.22 125.5 [57.0%
3 R E 30178 | 39 139 [ 3 13 3 [1200] 5 1785 154.1%]| 8
5 Eib 40 | 84 | 59 | 25 |11 0.6 | 14 | 1.42 | 14 ]224.5 [51.0%]| 20
5 Pk il S0 1 88 | 8 ) 3 [21 01 |22 11.04] 22 1272.5[49.5%]| 27
5 B AL T 40 1.8 | @& 1 () 23 10| 23 1099 | 23 ]238.5 |54.2%| 7
5 ST 3018 | 3 )47 [ 2 16| 1 1224 1 11960 [59.4%| 1
5 AR 40 169 | @D 1 a® 36 10536 1079 | 35 1230.5 [52.4%| 14
6 SR 40 139 | a2 | @) | 47 | @] 47 1032 | 47 |181.0 |41.1%]| 47
6 A 20 | 29 [ (73) | 44 2.2 0.40 88.0 140.0%
6 Bok it SO | 62 [ 15| (53) | 43 J (.| 43 10.54 | 45 ]263.5 |47.9%]| 35
6 S SO | 62 [ 15| (53) ] 43 J (.| 43 10.54 | 45 ]263.5 |47.9%]| 35
6 HEKX 40 1 56 | OD | @D | 42 | (1.0)] 42 |0.58 | 42 |205.0 |46.6%| 42
7 TR 40 181 | 55 126 | 9 |07 | 13 |1.47 | 13 [232.0 |52.7%]| 13
7 S 10 125 [ 28 | Q) 0.3) 0.89 53.5 |48.6%
7 RELHE 30 L ST [ D 3 125 JO.D] 25 1094 | 25 ]162.5 [49.2%]| 28
7 B ER 30 L 66 | G 134 | 5 |11 | 4 ]206] 3 |1825(553%| 2
7 [ESin 30 L 66 | G 134 | 5 |11 | 4 206 ] 3 ]1825(553%| 2
7 Fi 20 | 55 [ @9 | 26 1.3 1.90 123.0 [55.9%
8 HHE S0 1100 | 86) | 14 | 18 1 03 | 18 | 1.16 | 18 ]279.5 [50.8%| 21
8 [ENSES S0 1100 | 86) | 14 | 18 1 03 | 18 | 1.16 | 18 ]279.5 [50.8%| 21
8 2 SO L 79 [ a3 | (58) | 45 | (1.2 | 45 10.58 | 43 ]249.5 |45.4%]| 43
8 FHREE SO L 79 [ a3 | (58) | 45 | (1.2)| 45 10.58 | 43 ]249.5 |45.4%]| 43
9 CSES 50 1 82 [(10H ] 20139 1 O04] 35 1079 | 36 |264.5 [48.1%]| 32
9 Y 30 1 35 [ (59 | @0 ] 40 | ©.8) ] 40 ]0.59 | 40 |142.5 |43.2%]| 45
9 LI 40 179 | ae) ] 3 |21 o1 |21 [1.04 ] 21 ]2225050.6%]| 23
9 PR 40 176 | G | 4 120 101 |20 J1.06 | 20 J206.5|46.9%]| 41




5 2018 %20E e FHFEMBE~F R 2 5
& g k- ol Ew | EF=w g | P 3 % | B~
Ff 55, ?}ﬁ Mg | zen| s |zms| MP | IMP | IMP | IMP | Fac | B4 | B4 |MP)
IMP | IMP | IMP | & ¢ | Fpr | 2% | | #r | MP 1
9 Bk Bl 7% 40 | 56 O 1 G141 JdO[ 41 1059 | 41 [183.0 [41.6%]| 46
10 Al 40 | 74 @) 1 ® 128 1O2D[ 28 1090 | 28 [207.5 [47.2%] 39
10 Erey 40 | 6l 75 1 a4 133 1O4[ 33 081 ] 32 [227.0 [51.6%]| 16
10 PRELAER 40 | 74 @) 1 ® 128 O] 28 1090 | 28 [207.5 [47.2%] 39
10 NS 40 | 61 75 1 a4 133 1O4[ 33 081 | 32 [227.0 [51.6%]| 16
11 [ E 301 39 | 49 | d0) [ 30 J©3)] 32 ]080 | 34 ]166.5 [50.5%] 25
11 A A 20 1 39 do 1 29 1.5 3.90 126.5 157.5%
11 P 30 ] 30 45 1 a5 135 10537 1067 ] 37 1161.0 [48.8%] 31
11 Ui 40 | 80 (50) | 30 7 08 [ 11 J160 ] 9 ]226.5[51.5%] 19
11 IR 20 | 28 30 1 @ 0.D 0.93 109.5 149.8%
11 HBHE 20 | 52 (20) | 32 1.6 2.60 117.0 153.2%
12 Al 5 40 | 73 @)1 D 126 1OD[ 26 091 ] 26 [234.0 [53.2%] 9
12 PR 40 | 73 @)1 D 126 O] 26 091 ] 26 [234.0 [53.2%] 9
12 aTE 30 | 37 56) 1 49 1 37 106 [ 38 10.66 | 38 |156.0 147.3%]| 37
12 PR A 30 1 37 | 56) | (9) [ 37 J©0.6)]| 38 ]0.66 | 38 |156.0 [47.3%| 37
12 HE=H 301 7 “n 1 24 12 1 0.8 9 1151110 J181.5155.0%] 4
12 Bek Ik 301 7 “n 1 24 12 1 0.8 9 1151110 J181.5155.0%] 4




| 5| 2018 ¥205EgapEf 2R | 5

NS S SUH B NS JIYIE BiRH
EW FE i HER 6 Ta b I e 1 1 EW IR, Rk

B | DL | 5% | 2R3 R i¥ A%AA | COP 1

Lgzx%% | NS | EW [ 2925% | NS | EW | #6 | #1 | #6 [ #1 | #6 [ #1

11 | S |None 4HNG6 480 3SN4 170 310 7

12| W | NS 3NW3 400 5DXW-2 300 700 12

13 | N |Both| 3DS-1 100 3CN-3 300 | 200 5

14 | E |None 4HW5 450 4HW5 450

15| S | NS 2HS2 110 2SW-1 50 60 2

16 | W | EW BSW6 1430 6SW6 1430

17 | N |None| 6HES6 980 4HE5 450 530 11

18 | E | NS 2HN-1 100 2HN-1 100

19| S | EW| 3CXN-5 1100 3SE-2 200 1300 16

20 | W |Both|  4SE4 620 3NE5 660 | 40 1

X3+ IMP|15 |39

%% 6 U25-NCCTU 1 i1 %
* B IMP 15 39
£ 3+ IMP 15 39
2 H-VP 3.22 16.78

b A




A4 L Az ) AN v
5 \ 2018 %201e FIHEF 2R \ 5
NS WHE RHE 8 T b I 2 2 NS R ToE
EW 2158 SHERE a e EW B T
1 |
2t | DL | 5 & EES MEPZ 1% CEE s
M 2mzm% [ NS |EW | c9nzm% | NS | EW | #8 | #2 |#8 ] #2 | #8 | #2
11 S [None 4HNG6 480 4HNG6 480
12| W | NS 3CXN-4 1100 3NE4 430 670 12
13 | N |Both 3DS3 110 3NXS-3 800 | 910 14
14 | E [None 4HW4 420 4HW6 480 60 2
15| S NS 2HS2 110 2HS2 110
16| W | EW 6SW6 1430 6SW6 1430
17 | N [None 5DW-1 50 6HE-1 50
18 | E NS 2DS-1 100 2HN-2 200 100 3
19| S EW 2SE2 110 2HW-2 200 310 7
20 | W |Both 4SE6 680 6NW6 1440 | 760 13
s+ IMPI32 (19
X A
2% 8 ﬁ’} 2 £ =
* B IMP 32 19
£ 3+ IMP 32 19
B H-VP 14.28 5.72
A




A2 L Am. ) 2\ . 5
5 \ 2018 %20E e FEpE < F SR e ‘
NS BREE MY 9 T b I 3 3 NS TEp wEG
EW L AT d e EW BEE
2t Lol | 5 LE EE iw |M7AA] 0P
M 2Hzm% [ NS | EW | cmzm% | NS | EW | #9 | #3 |#9 ] #3 | #0 | #3
11| S |None|  5HN7 510 4HN6 480 30 1
12| w | Ns 3NE5 460 3DW-1 50 510 11
13| N |Both| 3Ns-3 300 3DN3 110 410 9
14 | E |None| 4HwWa4 420 AHW-1 50 470 10
15| s | NS 2HS-1 100 2HS-1 100
16 | W | EW 6SW6 1430 6SW6 1430
17 | N |None|  4HEs 480 6DW-1 50 530 11
18| E | NS OHN-2 200 2HN-1 100 100 3
19| s | EW 2SE2 110 1NN-1 50 60 2
20 | W |Both|  4SE5 650 3NW5 660 | 10
B IMP| 1 |46
o X _ g‘ “/, s
5% 9 - g = '%K 3 RS- )2
* B IMP 1 46
£ 3+ IMP 1 46
2 VP 0.24 19.76
5z
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5 \ 2018 $20EEFEIHELR 2R L \ e
o 10 [Table 4| 4 .,
EW a e EW
nee L K ik | ®mEAA | COP

M 25zm% [ NS | EW | c5zm% | NS | EW | #10 | #4 |#10] #4 |#10| #4
11 | S |None A Averagd A Averagd
12| W | NS A Averagd A Averagd
13 | N (Both A Averagd A Averagd
14 | E |None A Average A Average
15| S | NS A Averagd A Averagd
16 | W | EW A Average A Average
17 | N |None A Average A Average
18 | E | NS A Average A Average
19| S | EW A Average A Average
20 | W |Both A Average A Average
X3+ IMP

%% 10 213 4 1R

> B IMP

&3+ IMP

2 3VP 10.00 10.00

%




A2 L Am. ) 2\ . 5

5 \ 2018 %201e FIHEF 2R \
NS B4 s 1 1 T bl 5 5 NS HHEZ BB R
EW PR s a e EW BEEEN AR
neee 2R Mz i B%EAA | COP

M 2mzm% [ NS | EW | c9zm% | NS | EW | #11 | #5 |#11] #5 |#11]| #5
11| S |None| 6HS6 980 6HS7 1010 30 1
12| W | NS 2DW3 110 1NE5 210 | 100 3
13| N |Both| 2SE-2 200 3DS4 130 70 2
14 | E |None| 4HW4 420 4HW4 420
15| S | NS 2SW2 110 2SW2 110
16| W | EW 6SW6 1430 6SW6 1430
17 | N |None| 5HE-1 50 5DW5 400 || 450 10
18| E | NS 3NS-1 100 2HN2 110 210 5
19| S | EW 2SE2 110 2SE2 110
20 | W |Both 4SE6 680 3NE5 660 20 1
St IMPI15 | 7

% 11 ] 5 L1fe

* B IMP 15 7/

£ 3+ IMP 15 7

2 VP 12.83 7.17

A




A4 L Az ) AN v
5 \ 2018 520 te FEHEF 2R ‘ 5
NS il By A 5f 1 2 T bl 6 7 NS YOE R
EW B apble EW B AR
1 |
2t | oL | £ 4 K Mz i W%EAA | COP
* tyze%x | NS | EW | 252 2% | NS | EW | #12 | #7 [#12] #7 |#12| #7
11 S [None 5HNG6 480 6HNG 980 500 11
12| W | NS 3CXN-4 1100 3NE4 430 670 12
13 | N |Both 2DN3 110 3DS3 110
14 | E [None 4HW4 420 4HW4 420
15| S NS 3HS-2 200 2HS-1 100 100 3
16 | W | EW 6SW6 1430 6SW6 1430
17 | N [None 5HE5S 450 6HEG 980 530 11
18 | E NS 2HN2 110 2HN2 110
19| S EW 2SE2 110 2NN-2 100 10
20 | W |Both 3NW5 660 4SEG6 680 20 1
@3+ IMP| 12 |26
W AL 4
#x ] 12 fic 7 R A
* B IMP 12 26
& 3+ NP 12 26
2 3-VP 5.46 14.54
bR




